® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x% = 5xy + 3y* = (x - 3y)(2x ~y)

B

@ ma+mb-m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x?-5x—6=(x—6)(x+1)
® 2x% - 5xy 4+ 3y? = (2x - 3y)(x - y)
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V2=x, 3=y 2@, VB ExSyZ Uehd Zor

@ x+y @ x*+y? ® Vxty
C(‘Q\/x?—ky2 ® xy
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'1__'
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(OX))
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‘ V5= v2F3=/(v2)" + (V3) = V@ + 2




FBEZ f(n) ol2t S o, £(75) - £(48)
o] ko9
O V2 @ V2-1 ® V2-3
@ V3-1 ®)V3 -2

V75 = 8.-.. o]B 2 A , HEO \75-8 =
5v3 -8 o]t

V48 = 6.--- o|B=Z 7 : FELS VI8 -6
43 -6 oltt.

< f(75) - £(48)
=(5V3-8)—(4V3-6) = V3 -2 o[t}
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x>0, y<0 o, ot 4]

Q@ Vx-yP=x-y
© VaZ+ 32+ - x)7 =2
© V- - x-y)?=2
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5
@x-y>0, \/(x-y)?2=x-y

O©y-x<0,
Ve + P+ G-
=x+(-y)-(y-x)=2x-2y
=x= (=)= (x-y)
=x+y—-x+y=2y
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VI20xy = /23 X3 X 5 X xy = 2+/30xy

xy =30

(x, y) = (1, 30), (2, 15), (3, 10), (5, 6),
(6, 5), (10, 3), (15, 2), (30, 1)
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V3x—2V2y = -2
17 18
@® x 177\/_,y 178
® x 177‘/_,y 178
= — — 3
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V2x + \/§y=5\/6
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18 17
@ x=7\/§,y=7\/§

18 17
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Q) +F2)+F(3)++£(8) ] g7

@2 @ 3 @ 2v2-1
@ 2v2+1 ® 32




12. A=4x+2, B=6x2-5x—4 °]1

| oy

o & o

=ax+b 2 YEFo] A o ab

B 6x2 —b5x—4
A~ 4x+2
(2x+1)(3x—4)
4x + 2
(2x+1)(3x—4)
2(2x + 1)

_ 3x-—4

=ax+b
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-y +9x+5y—a

=(x+y+a)(x-y+p)

=22 =y +(a+p)x+ (-a+p)y+ap
atfp=9

+)—a+p=5

2p=14
B=T,a=2
La=-af=-2x7T=-14
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@ (x+y+2)(x-y+2) @ (x+y+2)(x-y-2)

® (x-y+z)(x-y-2) @ (x+y-z)(x-y+2)

@(X+y—1) (x-y-2)

-+ 2 -y =(x-2)° -y
=@x-z+y)(x-z-y)
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